NIOS Class 12 Biology Question Paper 2019 (Set A)

This Question Paper consists of 30 questions and 12 printed pages.
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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions contained in

the Question Paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the
specified places will lead to disqualification of the candidate.

4, Write your Question Paper Code No. 58 / OSS / 1, Set - A on the Answer-Book.

5. (@)  The Question Paper is in English/ Hindi medium only. However, if you wish, you can answer in any
one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati, Konkani,
Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the Answer-Book.
(b)  If you choose to write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the question will be yours only.
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Note:i)  This Question Paper consists of 30 questions.

i)
111)
iv)

A ¢ i)
ii)
iii)
1v)

All the questions are compulsory.

Marks for each question have been indicated against it.

Each question from Q. Nos. 1 to 8 has four alternatives - (A), (B), (C) and (D), out
of which one is the most appropriate. Choose the correct answer among the four
alternatives and write it in your answer-book against the number of the
question. No separate time is allotted for attempting multiple choice questions.
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1. Which of the following bacteria causes cholera? [1]
A)  Vibrio cholerae
B)  Rhizobium
C) Azotobacter
D)  Lactobacillus
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2. One of the macronutrient given below plays a key role in food production and

normal growth of the plant. [1]
A) Boron

B) Copper

C) Carbon

D)  Uranium
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fumn 27

A)  ERA
B) dm
C)
D) fFEm

3. Name the complex tissue which function as a unit to conduct water and minerals
upward from root to leaves. [1]

A)  Phloem

B) Parenchyma
C) Xylum

D)  Sclerenchyma
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4. Identity the fluid found in the Cavities of the brain. [1]
A)  Cerebrospinal fluid

B) Serum

C) Grey matter

D) Plasma
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5. Choose the plant hormone which induces "Parthenocarpy". [1]
A)  Auxin

B)  Gibberelins
C) Ethylene
D) Lactic acid
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6. Identifythe following figure : [1]

B) Leaf
D) Seed Coat

A) W B) Gt
C) 9o D) &

7. With reference to organisation of life, Rana tigrina comes into which category? [1]

A)  Community B) Species
C)  Organism D) Biome
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8. Which of the following enzyme is called "Joining Enzyme"? [1]
A)  Plasmids
B) DNA ligase

C) Protease

D) Amylase

FfeTRaa usreHi o o fohd USTE it “HiSTt UATSH hgd 8 ?
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B) DNA &=

C) uifeus

D) wHEew

9. Define the term inflorescence. What are the major types of inflorescence 1n flowering
plants. [2]
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10. Observe the diagrams and answer the following [2]

a)  Are these type of stomata found in monocots or dicots?

b)  Mention their main function.
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11. Give an example for each of the following : [2]
a)  Aerobic bacteria which fixes nitrogen
b)  Anaerobic bacteria which fixes nitrogen
c)  Cyanobacteria which fixes nitrogen

d)  Photosynthetic non-sulphur bacteria which fixes nitrogen
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12. Where does spinal cord 1s located in human beings. Mention 1ts main function. [2]
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13. Give reasons : [2]
a)  Habitat 1s called an address of the organism.
b)  Fins are an adaptations of fish to aquatic life.
<h[{UT ddTSU
a) g ok SUTATH o UATaTE a1 hed @ ?

b) e e & foTu U@ uset & 3% g 2 |

14. What 1s the importance of balanced diet? Reason out the special diet recommendation
to pregnant and lactating women? [2]

HfeTd ITER T Weed SaTSU | Terteren 3R e afgenai o foru fafie smer 3 = sreavaes
27

15.a)  Why are human testes located outside the abdominal cavity?

b)  Name the pouch in which they are present.
2]

a) WA U JuUT 35T TR o gl o i fea g 2

b) 3T IV w1 A Farse fwek Hiar guur fem 2|

16. How 1s the phenotypic ratio of F -generation in dihybrid cross 1s different from
monohybrid cross? 2]

fogert shidl 6 F, Hafd 1 @eunedt SiuTd Thadt shie 8 i {37 g 82
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17. Answer the following : [2]
a)  Which phase of growth curve shows rapid and maximum growth?
b)  Whatis the term used for inducing early flowering in plants at low temperature?

c)  Name the specially designed equipment used to measure the rate of growth of
shoot length of plants.

d)  Whatis the hypothetical plant hormone which 1s responsible for initiation of
flowering in plants?

fAtmfeRaa & s difso

a) g hl HIE TTEEAT o N dig 3R ftrekad gig 2t 27

b) dtei | = ausER W et oA il 9 i o fore sia—n vides S foRan Sttt 22
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18. Draw a neat diagram of human lung and label the Larynx and trachea parts : [2]
AT o TSl hl Ueh Tes 3R 15U a2 360 fAfeiiad amt Wifehd ShifeTe | e Ud Yare-et |

19. Write any four advantages of Bio-diesel. [2]
g — S o g TR AW 415U |

20. Write any two effects of the following :- [2]
a)  Excess intake of Iron.

b)  Excess intake of Vitamin - D
fAafeiaa < g 3@ awE Faqrgu

a)  wIg o Sl A | Ha e |

b) frefm - D = stfeies At § waA & |
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21. Write short notes on :- [2+2=4]
a)  Mode of nutrition 1n Yeast.

b)  Sexual recombination in Bacteria.
fAafeiRaa w wferm oot foRau -
a) e i T - fafe

by s i e T

22. Give reasons : [2+2=4]
a)  Sino-atrial node 1s called pacemaker of the heart.

b)  Person with blood group 'O’ called Universal donor.
<h[UT ddisU ©

a) o sifere (Sino-atrial) Ut At E2a o1 GEaRt oIl Shgd @ 2
b) 'O wfr a At =afs F A war w6 Fa I

23. Differentiate between "Monocot stem and Dicot stem". (4]

Ueh S 3T feistash T Hi | 37aY 9q1gu |

24.A man with 'A' blood group married a woman with blood group 'B'. Work out a
cross to show possible blood groups that can be expected 1n their off springs. [4]

A A 3T B w6 o aret Tordlt gE 3R & | Icua |dld o THIE T a1 ol g9 a1ell Ueh
shid T3 |

58/0S8/1-314-A] - G216 10 [[{{{RIMNAFIAMIAMANG Come-

o
gcollegedumaa
India’s largest Student Review Platform

-




25.a)  Which phase of cell-cycle DNA-replication takes place? [1]
b)  Describe 1n brief the process of "Transcription in Prokaryotes". 3]
a)  ThIIITEHT — oI5k <hl Toh® TTERAT o R DN A -Sfdep e gt g ?
b) Urki==l H FR ATl @A Tishan o @terd faerun weqa Fhifsm |

26. Draw a schematic diagram of "Carbon Cycle". [4]

ST — 5h ohl Ueh ATSHTEg 3@ 15U |

27.a)  Write any four salient features of Class-Aves with two examples. (4]
b)  Define "Alteration of generation", with one example. [2]
a) 3l 3STEUT o §U UelTS &l <k his = ferfdme @ermn sarsg |
b) U 3qE0Tqd T G — TewTawor” =t afwmen ferfem |
28.a)  What s the other name for "Adaptive immune response"? [1]
b)  State the role of T-cells and B-cells in Adaptive immune response. [2]
c)  Biotechnologist refer to "Agrobacterium tumetaciens"” as a natural genetic
engineer. Give reasons to support the statement. [3]
a)  “‘ITIRel Uferet R i fRE SR AT | T AT 8
b)  3reket uferen smfhan # T-wmifdrematt ik B-smfdwerati i yftrer samsu |
o) i AT SRR R e e St 6w § a
2| 39 T hi gE A & {1 wRo1 Fargu |
29.a)  Name the scientist who discovered C, cycle. [1]
b)  Draw a neat schematic diagram of C, cycle in plants. [3]
c) Justity your answer why C, plants are most etficient than C, plants? [2]
a)  C, =ik i WA T AT AR T AH FATST |
b) et | C, =k i Ueh Tl AHTEG HNG =A13T |
¢)  C,dieii it arden C, e i orferen R g §1 o I 1 gf B |
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30. a)  What s "Criss - Cross inheritance"? [1]

b)  Whyisred - green colour blindness more common 1n males than females?[2]

c)  How s colour blindness inherited? Explain with the help of flow chart.  [3]
a)  Tora i STl o it 8 2
b) wE-gl gurtuat Rt i gen o geui o aiferen i Ut ATt 29

C)  TUTILAT hl I fohE TR Bl ¢ ? Ueh TATE T Thl HEEIAT g SAREAT FhiisTU |
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